Answers to Math/Osmosis/Diffusion take home weekly quiz
1) Lysis means bursting or tearing of a cell.

2) Hypotonic

3) 3.489 x 105
4) 9 students have the flu.


141 students don’t have the flu.

5) This substance is hydrophobic. There are many more carbon atoms than there are oxygen atoms. 

6) a) Dehydration



b) 0.45% Saline or 2.5% Dextrose


c) Hypotonic

7)
a) 35 – 490

7)
b) 198.4

7)
c) Units conversions (for the graph on the next page)


1 boy 

x
(15 lines/5 boys)
=
3 lines


2 boys 
x
(15 lines/5 boys)
=
6 lines


4 boys 
x
(15 lines/5 boys)
=
12 lines


6 boys 
x
(15 lines/5 boys)
=
18 lines


9 boys 
x
(15 lines/5 boys)
=
27 lines

`
35 hairs 
x
(20 lines/250 hairs)
=
2.8 lines

95 hairs 
x
(20 lines/250 hairs)
=
7.6 lines

160 hairs 
x
(20 lines/250 hairs)
=
12.8 lines

212 hairs 
x
(20 lines/250 hairs)
=
17 lines

490 hairs 
x
(20 lines/250 hairs)
=
39.2 lines
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